4,6-Dinitro-2-methylphenol
Response Ratio

(@]
*
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i)

0 2 4 6 8 10
Concentration Ratio

R = 3.698e-003 A*A + 3.071e-002 A - 2.369e-002

Coef of Det (r”2) = 0.997386 Curve Fit: Quadratic

Method Name: Z:\SVOASRV\HPCHEM1\BNA N\METHODS\8270-SIM-BN090421.M
Calibration Table Last Updated: Mon Sep 06 02:08:58 2021
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Pentachlorophenol
Response Ratio

0@ I I I I

0 2 4 6 8 10
Concentration Ratio

Response = 1.157e-001 * Amt - 1.060e-001
Coef of Det (r”2) = 0.993098 Curve Fit: Linear
Method Name: Z:\SVOASRV\HPCHEM1\BNA N\METHODS\8270-SIM-BN090421.M
Calibration Table Last Updated: Mon Sep 06 02:08:58 2021
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